		BaseLine Item Detail	Epic Manag	Epic Management, Inc		Tomco Construction, Inc.		Hall Building Corp.		Carbro Constructors Corp.		Dobco Inc.	
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total I	Jnit Price L	ine Total	Unit Price I	ine Total	Unit Price I	Line Total	
1 104-0001	1.00 L.S.	Construction Layout	\$65,000.00	\$65,000.00	\$42,999.40	\$42,999.40	\$120,000.00	\$120,000.00	\$58,000.00	\$58,000.00	\$125,000.00	\$125,000.00	
2 104-0002	1.00 L.S.	Mobilization	\$586,201.00	\$586,201.00	\$480,000.00	\$480,000.00	\$495,000.00	\$495,000.00	\$515,000.00	\$515,000.00	\$450,000.00	\$450,000.00	
3 107-0001	1.00 L.S.	Progress Schedule	\$10,000.00	\$10,000.00	\$22,500.00	\$22,500.00	\$32,000.00	\$32,000.00	\$45,000.00	\$45,000.00	\$25,000.00	\$25,000.00	
4 108-0001	4,900.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00	\$4,900.00	\$1.00	\$4,900.00	\$1.00	\$4,900.00	\$1.00	\$4,900.00	\$1.00	\$4,900.00	
5 108-N0004	500.00 USD	Steel Price Adjustment (No-Bid)	\$1.00	\$500.00	\$1.00	\$500.00	\$1.00	\$500.00	\$1.00	\$500.00	\$1.00	\$500.00	
6 201-0002	1.00 L.S.	Clearing and Grubbing	\$255,000.00	\$255,000.00	\$325,000.00	\$325,000.00	\$200,000.00	\$200,000.00	\$325,000.00	\$325,000.00	\$350,000.00	\$350,000.00	
7 202-0002	4,000.00 C.Y.	Roadway Excavation, Earth	\$70.00	\$280,000.00	\$54.00	\$216,000.00	\$75.00	\$300,000.00	\$42.00	\$168,000.00	\$85.00	\$340,000.00	
8 202-0004	16,203.00 C.Y.	Roadway Excavation and Embankment	\$12.00	\$194,436.00	\$6.25	\$101,268.75	\$25.00	\$405,075.00	\$15.00	\$243,045.00	\$30.00	\$486,090.00	
9 202-0007	2,961.00 C.Y.	Stripping Topsoil	\$31.00	\$91,791.00	\$6.60	\$19,542.60	\$12.00	\$35,532.00	\$25.00	\$74,025.00	\$20.00	\$59,220.00	
10 202-0009	15,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	
11 205-0001	949.00 C.Y.	Foundation Excavation	\$25.00	\$23,725.00	\$24.00	\$22,776.00	\$80.00	\$75,920.00	\$50.00	\$47,450.00	\$75.00	\$71,175.00	
12 205-0002	131.00 C.Y.	Coarse Aggregate Layer	\$111.00	\$14,541.00	\$97.00	\$12,707.00	\$125.00	\$16,375.00	\$140.00	\$18,340.00	\$140.00	\$18,340.00	
13 207-0004	9.00 Ton	RipRap Stone Aprons, 12in Thick(D50=6in)	\$101.00	\$909.00	\$381.00	\$3,429.00	\$150.00	\$1,350.00	\$350.00	\$3,150.00	\$145.00	\$1,305.00	
14 207-N0007	22.00 Ton	Riprap Stone Slope Protection, 8in Thick, (D50=4in)	\$101.00	\$2,222.00	\$155.00	\$3,410.00	\$150.00	\$3,300.00	\$350.00	\$7,700.00	\$140.00	\$3,080.00	
15 208-0008	4,776.00 L.F.	Heavy Duty Silt Fence	\$12.00	\$57,312.00	\$4.00	\$19,104.00	\$9.50	\$45,372.00	\$20.00	\$95,520.00	\$12.00	\$57,312.00	
16 208-0022	75.00 Each	Inlet Filter, Type 2	\$198.00	\$14,850.00	\$360.00	\$27,000.00	\$175.00	\$13,125.00	\$250.00	\$18,750.00	\$145.00	\$10,875.00	
17 208-0024	143.00 Ton	Construction Driveway	\$57.00	\$8,151.00	\$55.00	\$7,865.00	\$125.00	\$17,875.00	\$175.00	\$25,025.00	\$85.00	\$12,155.00	
18 208-N0001	1.00 Each	Concrete Washout Facility	\$4,080.00	\$4,080.00	\$6,600.00	\$6,600.00	\$9,000.00	\$9,000.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	
19 213-0001	250.00 Ton	Disposal of Acid Producing Soil	\$70.00	\$17,500.00	\$53.00	\$13,250.00	\$90.00	\$22,500.00	\$35.00	\$8,750.00	\$150.00	\$37,500.00	
20 213-0002	250.00 Ton	Disposal of Regulated Material	\$70.00	\$17,500.00	\$53.00	\$13,250.00	\$200.00	\$50,000.00	\$97.50	\$24,375.00	\$190.00	\$47,500.00	
21 301-0002	11,826.00 S.Y.	Aggregate Base Course, 6in Thick	\$16.00	\$189,216.00	\$12.00	\$141,912.00	\$25.00	\$295,650.00	\$23.00	\$271,998.00	\$150.00	\$206,955.00	
22 301-N0004	1,100.00 C.Y.	Striping, Stockpiling and Spreading of Millings for DGA	\$42.00	\$46,200.00	\$26.00	\$28,600.00	\$35.00	\$38,500.00	\$40.00	\$44,000.00	\$50.00	\$55,000.00	
23 302-0002	4,198.00 Ton	Hot Mix Asphalt 12.5M76 Surface Course	\$115.00	\$482,770.00	\$126.00	\$528,948.00	\$136.00	\$570,928.00	\$137.00	\$575,126.00	\$145.00	\$608,710.00	
24 302-0002	4,349.00 Ton	Hot Mix Asphalt 25M64 Base Course	\$115.00	\$456,645.00	\$120.00	\$469,692.00	\$125.00	\$543,625.00	\$137.00	\$500,135.00	\$125.00	\$543,625.00	
25 302-0004	3,144.00 L.F.	Polymerized Joint Adhesive	\$105.00	\$18,864.00	\$108.00	\$13,362.00	\$4.00	\$12,576.00	\$113.00	\$6,916.80	\$125.00	\$543,023.00	
26 302-N0007	1,432.00 GAL	Trackless Tack Coat	\$24.00	\$18,864.00	\$4.25	\$6,086.00	\$8.50	\$12,378.00	\$2.20 \$16.50	\$23,628.00	\$2.23 \$7.50	\$10,740.00	
27 303-0001			\$14.00		\$39.00	\$13,377.00	\$48.00	\$16,464.00	\$10.30		\$42.00		
27 303-0001 28 303-N0002	343.00 S.Y.	Berm Surfacing, 3 Inches Thick Berm Surfacing, Crushed Stone, 6 in Thick	\$14.00	\$4,802.00	\$39.00			\$16,404.00	\$30.00 \$42.00	\$17,150.00 \$5,376.00		\$14,406.00	
	128.00 S.Y.			\$4,608.00		\$4,160.00	\$50.00		-		\$50.00	\$6,400.00	
29 303-N0004	166.00 S.Y.	Berm Surfacing, Crushed Stone, 4In Thick	\$25.00	\$4,150.00	\$30.00	\$4,980.00	\$47.00	\$7,802.00	\$33.00	\$5,478.00	\$47.50	\$7,885.00	
30 304-0001	65.00 S.Y.	Portland Cement Concrete Pavement	\$283.00	\$18,395.00	\$124.00	\$8,060.00	\$128.00	\$8,320.00	\$500.00	\$32,500.00	\$235.00	\$15,275.00	
31 305-0006	7,901.00 S.Y.	Pavement Removal, 2in Depth	\$5.00	\$39,505.00	\$9.50	\$75,059.50	\$10.00	\$79,010.00	\$8.80	\$69,528.80	\$8.25	\$65,183.25	
32 502-0005	640.00 L.F.	15 in Reinforced Concrete Pipe, Class III	\$75.00	\$48,000.00	\$88.00	\$56,320.00	\$118.00	\$75,520.00	\$200.00	\$128,000.00	\$120.00	\$76,800.00	
33 502-0006	515.00 L.F.	18 in Reinforced Concrete Pipe, Class III	\$82.00	\$42,230.00	\$108.00	\$55,620.00	\$128.00	\$65,920.00	\$250.00	\$128,750.00	\$130.00	\$66,950.00	
34 502-0008	162.00 L.F.	15 In Reinforced Concrete Pipe, Class V	\$85.00	\$13,770.00	\$99.00	\$16,038.00	\$150.00	\$24,300.00	\$210.00	\$34,020.00	\$120.00	\$19,440.00	
35 502-0010	369.00 L.F.	24 in Reinforced Concrete Pipe, Class III	\$110.00	\$40,590.00	\$120.00	\$44,280.00	\$130.00	\$47,970.00	\$270.00	\$99,630.00	\$155.00	\$57,195.00	
36 502-0014	76.00 L.F.	18 In Reinforced Concrete Pipe, Class V	\$85.00	\$6,460.00	\$290.00	\$22,040.00	\$300.00	\$22,800.00	\$260.00	\$19,760.00	\$135.00	\$10,260.00	
37 502-0015	27.00 L.F.	24 In Reinforced Concrete Pipe, Class V	\$122.00	\$3,294.00	\$250.00	\$6,750.00	\$425.00	\$11,475.00	\$400.00	\$10,800.00	\$225.00	\$6,075.00	
38 502-0019	24.00 L.F.	6 In PVC Pipe, Schedule 80	\$66.00	\$1,584.00	\$150.00	\$3,600.00	\$110.00	\$2,640.00	\$200.00	\$4,800.00	\$95.00	\$2,280.00	
39 502-0021		24-inch Reinforced Concrete Flared End Section	\$5,070.00	\$5,070.00	\$4,500.00	\$4,500.00	\$5,200.00	\$5,200.00	\$13,000.00	\$13,000.00	\$4,500.00	\$4,500.00	
40 502-0251	350.00 L.F.	Cleaning Existing Storm Drains	\$14.00	\$4,900.00	\$26.00	\$9,100.00	\$25.00	\$8,750.00	\$13.00	\$4,550.00	\$30.00	\$10,500.00	
41 502-0046	62.00 L.F.	8 in PVC Pipe, Schedule 80	\$83.00	\$5,146.00	\$150.00	\$9,300.00	\$150.00	\$9,300.00	\$150.00	\$9,300.00	\$125.00	\$7,750.00	
42 503-0001	8.00 Each		\$4,820.00	\$38,560.00	\$5,000.00	\$40,000.00	\$5,900.00	\$47,200.00	\$8,500.00	\$68,000.00	\$7,500.00	\$60,000.00	
43 503-0003	4.00 Each		\$5,500.00	\$22,000.00	\$6,700.00	\$26,800.00	\$6,000.00	\$24,000.00	\$8,200.00	\$32,800.00	\$7,300.00	\$29,200.00	
44 503-0011	5.00 Each		\$4,600.00	\$23,000.00	\$3,900.00	\$19,500.00	\$5,600.00	\$28,000.00	\$6,500.00	\$32,500.00	\$8,500.00	\$42,500.00	
45 503-0045	1.00 Each		\$4,820.00	\$4,820.00	\$13,000.00	\$13,000.00	\$8,900.00	\$8,900.00	\$24,000.00	\$24,000.00	\$9,000.00	\$9,000.00	
46 503-0046	11.00 Each	Inlet, Double Type D3	\$7,600.00	\$83,600.00	\$9,500.00	\$104,500.00	\$9,500.00	\$104,500.00	\$8,500.00	\$93,500.00	\$10,750.00	\$118,250.00	
47 503-0047	1.00 Each		\$7,600.00	\$7,600.00	\$12,600.00	\$12,600.00	\$9,800.00	\$9,800.00	\$15,000.00	\$15,000.00	\$11,000.00	\$11,000.00	
48 503-0253	2.00 Each	Reconstructed Inlet, Type D2, Using New Grate and Frame	\$5,500.00	\$11,000.00	\$4,800.00	\$9,600.00	\$3,900.00	\$7,800.00	\$6,000.00	\$12,000.00	\$2,500.00	\$5,000.00	
49 503-N0003	2.00 Each	Cleaning Existing Drainage Structures	\$375.00	\$750.00	\$800.00	\$1,600.00	\$2,200.00	\$4,400.00	\$500.00	\$1,000.00	\$1,250.00	\$2,500.00	
50 503-N0042	3.00 Each	Manhole, 5ft Diameter	\$5,180.00	\$15,540.00	\$5,200.00	\$15,600.00	\$7,800.00	\$23,400.00	\$11,000.00	\$33,000.00	\$12,000.00	\$36,000.00	
51 503-N0049	1.00 Each	Manhole, 6ft x 6ft with Frame and Cover	\$12,000.00	\$12,000.00	\$25,800.00	\$25,800.00	\$14,800.00	\$14,800.00	\$32,000.00	\$32,000.00	\$30,000.00	\$30,000.00	
52 505-0001	543.00 L.F.	Asphalt Concrete Lip Curb	\$16.00	\$8,688.00	\$19.00	\$10,317.00	\$27.00	\$14,661.00	\$22.00	\$11,946.00	\$20.00	\$10,860.00	
53 506-0001	876.00 L.F.	Concrete Curb, Type A	\$33.00	\$28,908.00	\$40.00	\$35,040.00	\$32.00	\$28,032.00	\$50.00	\$43,800.00	\$35.00	\$30,660.00	
54 506-0003	3,839.00 L.F.	9in X 18in Concrete Vertical Curb	\$33.00	\$126,687.00	\$40.00	\$153,560.00	\$33.00	\$126,687.00	\$46.00	\$176,594.00	\$35.00	\$134,365.00	
55 509-0001	172.00 S.F.	Sign Panels	\$27.00	\$4,644.00	\$37.00	\$6,364.00	\$90.00	\$15,480.00	\$27.00	\$4,644.00	\$25.00	\$4,300.00	
56 509-0002	367.00 L.F.	U-channel Post	\$17.00	\$6,239.00	\$27.00	\$9,909.00	\$15.00	\$5,505.00	\$17.00	\$6,239.00	\$15.00	\$5,505.00	
57 510-0001	850.00 L.F.	Beam Guide Rail	\$44.00	\$37,400.00	\$48.00	\$40,800.00	\$32.00	\$27,200.00	\$30.00	\$25,500.00	\$35.00	\$29,750.00	
58 510-0011	1.00 Each		\$4,600.00	\$4,600.00	\$4,200.00	\$4,200.00	\$1,900.00	\$1,900.00	\$2,000.00	\$2,000.00	\$3,900.00	\$3,900.00	
59 510-0018		Tangent Guide Rail Terminal	\$5,800.00	\$5,800.00	\$5,300.00	\$5,300.00	\$4,200.00	\$4,200.00	\$3,900.00	\$3,900.00	\$4,500.00	\$4,500.00	
60 510-0019		Beam Guide Rail Post	\$78.00	\$5,538.00	\$74.00	\$5,254.00	\$135.00	\$9,585.00	\$101.00	\$7,171.00	\$75.00	\$5,325.00	
			÷: 0.00	, - ,0	<i></i>	, _ ,===	,	, - , 0	,0	, ,=-==•	+ 0	, .,	

	BaseLine Item Detail		Epic Management, Inc		Tomco Construction, Inc.		Hall Building Corp.		Carbro Constructors Corp.		Dobco Inc.	
Item No. Unit Code C	ty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
61 510-0031	1,250.00 L.F.	Removal of Beam Guide Rail	\$3.00		\$3.50	\$4,375.00	\$15.00	\$18,750.00		\$1,250.00	\$2.50	\$3,125.00
62 511-0012	5.00 Each	Vehicular Gate, Type II, 84 in High, 20 ft Wide	\$5,000.00		\$4,300.00	\$21,500.00	\$6,000.00	\$30,000.00	\$2,250.00	\$11,250.00	\$3,500.00	\$17,500.00
63 511-0032	2,900.00 L.F.	Chain Link Fence, Type II, 84in High	\$55.00		\$44.00	\$127,600.00	\$58.00	\$168,200.00		\$174,000.00	\$55.00	\$159,500.00
64 511-0052	2.00 Each	Vehicular Gate, Type II, 84in High, 12in Wide	\$4,500.00		\$2,120.00	\$4,240.00	\$1,900.00	\$3,800.00		\$4,000.00	\$2,500.00	\$5,000.00
65 511-N0011	920.00 L.F.	Temporary Fencing, 96In High	\$50.00	\$46,000.00	\$11.50	\$10,580.00	\$40.00	\$36,800.00	\$26.00	\$23,920.00	\$40.00	\$36,800.00
66 511-N0029	1.00 Each	Motorized Vehicular Gate System	\$50,000.00	\$50,000.00	\$21,200.00	\$21,200.00	\$55,000.00	\$55,000.00	\$51,000.00	\$51,000.00	\$45,000.00	\$45,000.00
67 514-0005	143.00 S.Y.	Concrete Sidewalk, Reinforced, 4in Thick	\$155.00		\$110.00	\$15,730.00	\$150.00	\$21,450.00		\$21,450.00	\$125.00	\$17,875.00
68 516-0009	4,332.00 L.F.	Traffic Stripes, Long-Life, Thermoplastic	\$2.00		\$1.00	\$4,332.00	\$1.80	\$7,797.60		\$4,548.60	\$1.05	\$4,548.60
69 516-0011	1,952.00 L.F.	Traffic Markings, Lines, Long-Life, Thermoplastic	\$2.00		\$1.00	\$1,952.00	\$1.80	\$3,513.60		\$2,049.60	\$1.05	\$2,049.60
70 516-0013	16.00 S.F.	Traffic Markings, Symbols, Long-Life, Thermoplastic	\$29.00 \$15,000.00	-	\$53.00	\$848.00	\$40.00	\$640.00		\$432.00	\$25.00	\$400.00
71 517-0003 72 517-0009	1.00 L.S.	Furnish Field Office, Type C Maintain Field Office, Type C	\$15,000.00 \$20.00		\$5,300.00	\$5,300.00	\$44,000.00	\$44,000.00	\$78,280.00	\$78,280.00	\$55,000.00	\$55,000.00
73 517-0009	10,000.00 USD	Furnish Office Supplies (No-Bid)	\$20.00		\$2,800.00	\$53,200.00 \$10,000.00	\$2,100.00	\$39,900.00	\$1,000.00	\$19,000.00	\$1,500.00	\$28,500.00
74 522-0001	10,000.00 USD 10.00 Each				\$1.00		\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
75 599-N0003	150,000.00 USD	Project Allowances (No-Bid)	\$1,600.00 \$1.00	\$16,000.00 \$150,000.00	\$0.01 \$1.00	\$0.10 \$150,000.00	\$850.00 \$1.00	\$8,500.00 \$150,000.00	\$1,000.00 \$1.00	\$10,000.00 \$150,000.00	\$1,450.00 \$1.00	\$14,500.00 \$150,000.00
76 599-N0003	27.00 Each	Bollards	\$1,200.00	\$150,000.00	\$1.00 \$530.00	\$130,000.00	\$1,500.00	\$130,000.00	\$1,600.00	\$130,000.00	\$1,600.00	\$43,200.00
77 599-N0022	3.00 Each	8 Sin Water Valve	\$3,100.00		\$2,800.00	\$8,400.00	\$4,800.00	\$14,400.00		\$43,200.00	\$3,700.00	\$43,200.00
78 599-N0028	109.00 C.Y.	Basin Sand Laver	\$3,100.00		\$2,800.00	\$9,156.00	\$4,800.00	\$8,720.00		\$21,800.00	\$220.00	\$23,980.00
78 599-N0052 79 599-N0054	1.00 Each	18in Reinforced Concrete Flared End Section	\$4,650.00	\$4,650.00	\$4,000.00	\$4,000.00	\$4,900.00	\$4,900.00	\$200.00	\$10,000.00	\$4,500.00	\$4,500.00
80 599-N0071	1.00 Each	Outlet Control Structure 1	\$13,000.00	\$13,000.00	\$10,500.00	\$10,500.00	\$11,000.00	\$11,000.00	\$10,000.00	\$21,000.00	\$9,000.00	\$9,000.00
81 599-N0072	1.00 Each	Outlet Control Structure 2	\$13,000.00	\$13,000.00	\$10,500.00	\$10,500.00	\$11,000.00	\$11,000.00	\$21,000.00	\$21,000.00	\$9,500.00	\$9,500.00
81 555-N0072 82 599-N0091	1.00 Laci	Site Electrical Work, Building No. 1	\$450,000.00	\$450,000.00	\$520,000.00	\$520,000.00	\$795,000.00	\$795,000.00	\$935,000.00	\$935,000.00	\$435,000.00	\$435,000.00
83 599-N0105	22.00 L.F.	4in Polyvinyl Chloride Sewer Pipe	\$500.00	\$11,000.00	\$190.00	\$4,180.00	\$85.00	\$1,870.00		\$11,000.00	\$250.00	\$5,500.00
84 599-N0190	494.00 L.F.	6in Polyvinyl Chloride Water Pipe	\$105.00		\$70.00	\$34,580.00	\$82.00	\$40,508.00		\$86,450.00	\$95.00	\$46,930.00
85 599-N0191	1.00 L.S.	Helipad	\$50,000.00	\$50,000.00	\$122,000.00	\$122,000.00	\$124,000.00	\$124,000.00	\$187,000.00	\$187,000.00	\$85,000.00	\$85,000.00
86 599-N0202	3.00 Each	6in Water Valve	\$3,000.00	\$9,000.00	\$2,400.00	\$7,200.00	\$5,500.00	\$16,500.00	\$1,800.00	\$5,400.00	\$5,000.00	\$15,000.00
87 599-N0220	514.00 L.F.	8in Polyvinyl Chloride Water Pipe	\$113.00	\$58,082.00	\$108.00	\$55,512.00	\$92.00	\$47,288.00	\$200.00	\$102,800.00	\$135.00	\$69,390.00
88 599-N0221	3.00 Each	Fire Hydrant	\$6,800.00	\$20,400.00	\$8,900.00	\$26,700.00	\$11,200.00	\$33,600.00		\$36,000.00	\$10,000.00	\$30,000.00
89 599-N0224	4.00 Each	Cleanout	\$2,500.00		\$2,100.00	\$8,400.00	\$1,720.00	\$6,880.00	\$4,500.00	\$18,000.00	\$1,250.00	\$5,000.00
90 601-0031	388.00 L.F.	Multi-Mode Fiber Optic Cable, 12- Fibers	\$15.00		\$7.50	\$2,910.00	\$25.00	\$9,700.00	\$8.00	\$3,104.00	\$60.00	\$23,280.00
91 601-N0109	388.00 L.F.	2in HDPE Conduit with Pull Cords	\$20.00		\$16.00	\$6,208.00	\$45.00	\$17,460.00		\$3,492.00	\$75.00	\$29,100.00
92 703-0001	15,255.00 S.Y.	Topsoil	\$11.00	\$167,805.00	\$6.50	\$99,157.50	\$3.15	\$48,053.25	\$9.20	\$140,346.00	\$4.50	\$68,647.50
93 704-0003	4,802.00 S.Y.	Seeding, Type C	\$3.00	\$14,406.00	\$3.20	\$15,366.40	\$4.00	\$19,208.00	\$2.00	\$9,604.00	\$3.00	\$14,406.00
94 704-0004	10,453.00 S.Y.	Seeding, Type L	\$5.00	\$52,265.00	\$3.75	\$39,198.75	\$5.25	\$54,878.25	\$2.00	\$20,906.00	\$4.00	\$41,812.00
95 705-0001	36.00 Each	Planting, White Pine (Pinus Strobus)	\$700.00	\$25,200.00	\$690.00	\$24,840.00	\$770.00	\$27,720.00	\$700.00	\$25,200.00	\$650.00	\$23,400.00
96 705-0022	12.00 Each	Planting, Northern Red Oak (Quercus Rubra)	\$720.00	\$8,640.00	\$760.00	\$9,120.00	\$790.00	\$9,480.00	\$700.00	\$8,400.00	\$725.00	\$8,700.00
97 801-N0004	1.00 L.S.	Maintenance and Protection of Traffic	\$25,000.00	\$25,000.00	\$43,000.00	\$43,000.00	\$125,000.00	\$125,000.00	\$145,075.00	\$145,075.00	\$75,000.00	\$75,000.00
98 2000-N009	1.00 L.S.	Building Electric Work - Location No. 1	\$550,000.00	\$550,000.00	\$725,000.00	\$725,000.00	\$911,000.00	\$911,000.00	\$557,616.00	\$557,616.00	\$745,000.00	\$745,000.00
99 2000-N015	1.00 L.S.	Building Mechanical Work - Location No. 1	\$450,000.00	\$450,000.00	\$456,000.00	\$456,000.00	\$483,000.00	\$483,000.00	\$405,800.00	\$405,800.00	\$415,000.00	\$415,000.00
100 2000-N025	1.00 L.S.	Building Architectural Work - Location No. 1	\$2,000,000.00	\$2,000,000.00	\$2,717,274.00	\$2,717,274.00	\$1,500,000.00	\$1,500,000.00	\$1,302,378.00	\$1,302,378.00	\$1,325,000.00	\$1,325,000.00
101 2000-N026	1.00 L.S.	Building Plumbing Work - Location No. 1	\$150,000.00	\$150,000.00	\$201,000.00	\$201,000.00	\$205,600.00	\$205,600.00	\$264,050.00	\$264,050.00	\$125,000.00	\$125,000.00
102 2000-N030	25,000.00 USD	NJDCA Construction Permit Allowance (No-Bid)	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
103 2000-N047	1.00 L.S.	Building Structural Work - Location No. 1	\$450,000.00	\$450,000.00	\$150,000.00	\$150,000.00	\$376,800.00	\$376,800.00	\$506,239.00	\$506,239.00	\$1,182,186.05	\$1,182,186.05
104 2000-N085	50,000.00 USD	Building Furniture Allowance (No-Bid)	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
				\$8,833,424.00		\$9,249,000.00		\$9,851,612.70				\$10,000,000.00

		BaseLine Item Detail	Alna Cons	Conti Civil, LLC		
Item No. Unit Code	•	Description	Unit Price	Line Total	Unit Price	Line Total
1 104-0001	1.00 L.S.	Construction Layout	\$203,000.00		\$220,000.00	\$220,000.00
2 104-0002	1.00 L.S.	Mobilization	\$305,000.00		\$640,000.00	\$640,000.00
3 107-0001	1.00 L.S.	Progress Schedule	\$15,000.00		\$23,000.00	\$23,000.00
4 108-0001	4,900.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00		\$1.00	\$4,900.00
5 108-N0004		Steel Price Adjustment (No-Bid)	\$1.00		\$1.00	\$500.00
6 201-0002	1.00 L.S.	Clearing and Grubbing	\$255,000.00	\$255,000.00	\$375,000.00	\$375,000.00
7 202-0002	4,000.00 C.Y.	Roadway Excavation, Earth	\$100.00		\$85.00	\$340,000.00
8 202-0004	16,203.00 C.Y.	Roadway Excavation and Embankment	\$50.00		\$33.00	\$534,699.00
9 202-0007	2,961.00 C.Y.	Stripping Topsoil	\$40.00		\$20.00	\$59,220.00
10 202-0009	15,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$1.00		\$1.00	\$15,000.00
11 205-0001	949.00 C.Y.	Foundation Excavation	\$100.00		\$45.00	\$42,705.00
12 205-0002	131.00 C.Y.	Coarse Aggregate Layer	\$300.00		\$67.00	\$8,777.00
13 207-0004	9.00 Ton	RipRap Stone Aprons, 12in Thick(D50=6in)	\$500.00	\$4,500.00	\$185.00	\$1,665.00
14 207-N0007	22.00 Ton	Riprap Stone Slope Protection, 8in Thick, (D50=4in)	\$300.00	\$6,600.00	\$185.00	\$4,070.00
15 208-0008	4,776.00 L.F.	Heavy Duty Silt Fence	\$6.25	\$29,850.00	\$7.00	\$33,432.00
16 208-0022	75.00 Each	Inlet Filter, Type 2	\$99.00	\$7,425.00	\$115.00	\$8,625.00
17 208-0024	143.00 Ton	Construction Driveway	\$130.00	\$18,590.00	\$65.00	\$9,295.00
18 208-N0001	1.00 Each	Concrete Washout Facility	\$30,000.00	\$30,000.00	\$5,900.00	\$5 <i>,</i> 900.0
19 213-0001	250.00 Ton	Disposal of Acid Producing Soil	\$40.00	\$10,000.00	\$100.00	\$25,000.0
20 213-0002	250.00 Ton	Disposal of Regulated Material	\$140.00	\$35,000.00	\$92.00	\$23,000.0
21 301-0002	11,826.00 S.Y.	Aggregate Base Course, 6in Thick	\$16.00	\$189,216.00	\$16.50	\$195,129.0
22 301-N0004	1,100.00 C.Y.	Striping, Stockpiling and Spreading of Millings for DGA	\$60.00	\$66,000.00	\$85.00	\$93,500.0
23 302-0002	4,198.00 Ton	Hot Mix Asphalt 12.5M76 Surface Course	\$119.00	\$499,562.00	\$155.00	\$650,690.0
24 302-0004	4,349.00 Ton	Hot Mix Asphalt 25M64 Base Course	\$99.00	\$430,551.00	\$124.00	\$539,276.0
25 302-0071	3,144.00 L.F.	Polymerized Joint Adhesive	\$2.00	\$6,288.00	\$3.00	\$9,432.0
26 302-N0007	1,432.00 GAL	Trackless Tack Coat	\$10.00	\$14,320.00	\$11.00	\$15,752.0
27 303-0001	343.00 S.Y.	Berm Surfacing, 3 Inches Thick	\$80.00	\$27,440.00	\$95.00	\$32,585.0
28 303-N0002	128.00 S.Y.	Berm Surfacing, Crushed Stone, 6 in Thick	\$50.00	\$6,400.00	\$53.00	\$6,784.0
29 303-N0004	166.00 S.Y.	Berm Surfacing, Crushed Stone, 4In Thick	\$40.00	\$6,640.00	\$45.00	\$7,470.0
30 304-0001	65.00 S.Y.	Portland Cement Concrete Pavement	\$234.00	\$15,210.00	\$225.00	\$14,625.0
31 305-0006	7,901.00 S.Y.	Pavement Removal, 2in Depth	\$7.00	\$55,307.00	\$9.50	\$75,059.5
32 502-0005	640.00 L.F.	15 in Reinforced Concrete Pipe, Class III	\$150.00	\$96,000.00	\$120.00	\$76,800.0
33 502-0006	515.00 L.F.	18 in Reinforced Concrete Pipe, Class III	\$160.00	\$82,400.00	\$123.00	\$63,345.0
34 502-0008	162.00 L.F.	15 In Reinforced Concrete Pipe, Class V	\$150.00	\$24,300.00	\$145.00	\$23,490.0
35 502-0010	369.00 L.F.	24 in Reinforced Concrete Pipe, Class III	\$200.00	\$73,800.00	\$163.00	\$60,147.0
36 502-0014	76.00 L.F.	18 In Reinforced Concrete Pipe, Class V	\$180.00	\$13,680.00	\$156.00	\$11,856.0
37 502-0015	27.00 L.F.	24 In Reinforced Concrete Pipe, Class V	\$400.00	\$10,800.00	\$195.00	\$5,265.0
38 502-0019	24.00 L.F.	6 In PVC Pipe, Schedule 80	\$200.00	\$4,800.00	\$100.00	\$2,400.0
39 502-0021	1.00 Each	24-inch Reinforced Concrete Flared End Section	\$5,000.00	\$5,000.00	\$4,400.00	\$4,400.0
40 502-0251	350.00 L.F.	Cleaning Existing Storm Drains	\$40.00	\$14,000.00	\$16.00	\$5,600.0
41 502-0046	62.00 L.F.	8 in PVC Pipe, Schedule 80	\$200.00	\$12,400.00	\$106.00	\$6,572.0
42 503-0001	8.00 Each	Inlet, Type D3	\$10,000.00	\$80,000.00	\$6,500.00	\$52,000.0
43 503-0003	4.00 Each	Inlet, Type D2	\$10,000.00	\$40,000.00	\$6,700.00	\$26,800.0
44 503-0011	5.00 Each	Manhole, Type P-1	\$16,000.00	\$80,000.00	\$6,400.00	\$32,000.0
45 503-0045	1.00 Each	Inlet, Type D3 Doghouse	\$20,000.00	\$20,000.00	\$8,300.00	\$8,300.00
46 503-0046	11.00 Each	Inlet, Double Type D3	\$20,000.00	\$220,000.00	\$12,200.00	\$134,200.0
47 503-0047	1.00 Each	Inlet, Type Double D3 Doghouse	\$40,000.00	\$40,000.00	\$16,500.00	\$16,500.0
48 503-0253	2.00 Each	Reconstructed Inlet, Type D2, Using New Grate and Frame	\$8,000.00	\$16,000.00	\$5,800.00	\$11,600.0
49 503-N0003	2.00 Each	Cleaning Existing Drainage Structures	\$1,100.00	\$2,200.00	\$995.00	\$1,990.0
50 503-N0042	3.00 Each	Manhole, 5ft Diameter	\$20,000.00	\$60,000.00	\$8,600.00	\$25,800.0
51 503-N0049	1.00 Each	Manhole, 6ft x 6ft with Frame and Cover	\$70,000.00	\$70,000.00	\$21,130.00	\$21,130.0
52 505-0001	543.00 L.F.	Asphalt Concrete Lip Curb	\$40.00	\$21,720.00	\$28.00	\$15,204.0
53 506-0001	876.00 L.F.	Concrete Curb, Type A	\$36.00	\$31,536.00	\$45.00	\$39,420.0
54 506-0003	3,839.00 L.F.	9in X 18in Concrete Vertical Curb	\$36.00		\$44.00	\$168,916.0
55 509-0001	172.00 S.F.	Sign Panels	\$25.00		\$28.00	\$4,816.0
56 509-0002	367.00 L.F.	U-channel Post	\$15.00		\$16.50	\$6,055.5
57 510-0001	850.00 L.F.	Beam Guide Rail	\$37.00		\$31.00	\$26,350.0
58 510-0011	1.00 Each	Beam Guide Rail Anchorage	\$3,900.00		\$1,925.00	\$1,925.0
59 510-0018	1.00 Each	Tangent Guide Rail Terminal	\$4,900.00		\$4,000.00	\$4,000.0
60 510-0019	71.00 Each	Beam Guide Rail Post	\$65.00		\$101.00	\$7,171.0

Letting Date: 10/22/2024

Item No. Unit Code C	Qty UOM				Conti Civil, LLC		
item No. Offit Code C	- 1	Description	Unit Price	Line Total	Unit Price	Line Total	
61 510-0031	1,250.00 L.F.	Removal of Beam Guide Rail	\$2.50	\$3,125.00	\$5.50	\$6,875.00	
62 511-0012	5.00 Each	Vehicular Gate, Type II, 84 in High, 20 ft Wide	\$2,005.00	\$10,025.00	\$3,300.00	\$16,500.00	
63 511-0032	2,900.00 L.F.	Chain Link Fence, Type II, 84in High	\$55.50	\$160,950.00	\$55.00	\$159,500.00	
64 511-0052	2.00 Each	Vehicular Gate, Type II, 84in High, 12in Wide	\$1,755.00	\$3,510.00	\$2,200.00	\$4,400.00	
65 511-N0011	920.00 L.F.	Temporary Fencing, 96In High	\$22.00	\$20,240.00	\$64.00	\$58,880.00	
66 511-N0029	1.00 Each	Motorized Vehicular Gate System	\$110,000.00	\$110,000.00	\$38,000.00	\$38,000.00	
67 514-0005	143.00 S.Y.	Concrete Sidewalk, Reinforced, 4in Thick	\$139.00	\$19,877.00	\$171.00	\$24,453.00	
68 516-0009	4,332.00 L.F.	Traffic Stripes, Long-Life, Thermoplastic	\$1.00	\$4,332.00	\$1.05	\$4,548.60	
69 516-0011	1,952.00 L.F.	Traffic Markings, Lines, Long-Life, Thermoplastic	\$1.00	\$1,952.00	\$1.05	\$2,049.60	
70 516-0013	16.00 S.F.	Traffic Markings, Symbols, Long-Life, Thermoplastic	\$25.00	\$400.00	\$28.00	\$448.00	
71 517-0003	1.00 L.S.	Furnish Field Office, Type C	\$55,000.00	\$55,000.00	\$74,000.00	\$74,000.00	
72 517-0009		Maintain Field Office, Type C	\$2,000.00	\$38,000.00	\$4,900.00	\$93,100.00	
73 517-0013	10,000.00 USD	Furnish Office Supplies (No-Bid)	\$1.00	\$10,000.00	\$1.00	\$10,000.00	
74 522-0001	10.00 Each	Test Pits	\$4,000.00	\$40,000.00	\$1,200.00	\$12,000.00	
75 599-N0003	150,000.00 USD	Project Allowances (No-Bid)	\$1.00 \$1.787.00	\$150,000.00	\$1.00	\$150,000.00	
76 599-N0022 77 599-N0028	27.00 Each 3.00 Each	Bollards 8in Water Valve	\$1,787.00 \$6,000.00	\$48,249.00 \$18,000.00	\$2,200.00 \$3,500.00	\$59,400.00 \$10,500.00	
78 599-N0028	109.00 C.Y.	Basin Sand Layer	\$170.00	\$18,530.00	\$105.00	\$10,300.00	
79 599-N0052	1.00 Each	18in Reinforced Concrete Flared End Section	\$170.00	\$6,000.00	\$2,800.00	\$2,800.00	
80 599-N0071	1.00 Each	Outlet Control Structure 1	\$20,000.00	\$20,000.00	\$14,000.00	\$14,000.00	
81 599-N0072	1.00 Each	Outlet Control Structure 2	\$20,000.00	\$20,000.00	\$13,800.00	\$13,800.00	
82 599-N0091	1.00 L.S.	Site Electrical Work, Building No. 1	\$860,000.00	\$860,000.00	\$1,190,000.00	\$1,190,000.00	
83 599-N0105	22.00 L.F.	4in Polyvinyl Chloride Sewer Pipe	\$200.00	\$4,400.00	\$85.00	\$1,870.00	
84 599-N0190	494.00 L.F.	6in Polyvinyl Chloride Water Pipe	\$140.00	\$69,160.00	\$125.00	\$61,750.00	
85 599-N0191	1.00 L.S.	Helipad	\$317,000.00	\$317,000.00	\$128,000.00	\$128,000.00	
86 599-N0202	3.00 Each	6in Water Valve	\$5,000.00	\$15,000.00	\$2,600.00	\$7,800.00	
87 599-N0220	514.00 L.F.	8in Polyvinyl Chloride Water Pipe	\$300.00	\$154,200.00	\$145.00	\$74,530.00	
88 599-N0221	3.00 Each	Fire Hydrant	\$11,000.00	\$33,000.00	\$9,900.00	\$29,700.00	
89 599-N0224	4.00 Each	Cleanout	\$6,000.00	\$24,000.00	\$2,650.00	\$10,600.00	
90 601-0031	388.00 L.F.	Multi-Mode Fiber Optic Cable, 12- Fibers	\$8.00	\$3,104.00	\$9.00	\$3,492.00	
91 601-N0109	388.00 L.F.	2in HDPE Conduit with Pull Cords	\$9.00	\$3,492.00	\$77.00	\$29,876.00	
92 703-0001	15,255.00 S.Y.	Topsoil	\$5.00	\$76,275.00	\$5.00	\$76,275.00	
93 704-0003	4,802.00 S.Y.	Seeding, Type C	\$5.00	\$24,010.00	\$3.55	\$17,047.10	
94 704-0004	10,453.00 S.Y.	Seeding, Type L	\$6.00	\$62,718.00	\$4.25	\$44,425.25	
95 705-0001	36.00 Each	Planting, White Pine (Pinus Strobus)	\$500.00	\$18,000.00	\$800.00	\$28,800.00	
96 705-0022	12.00 Each	Planting, Northern Red Oak (Quercus Rubra)	\$563.00	\$6,756.00	\$880.00	\$10,560.00	
97 801-N0004	1.00 L.S.	Maintenance and Protection of Traffic	\$150,000.00	\$150,000.00	\$220,000.00	\$220,000.00	
98 2000-N009	1.00 L.S.	Building Electric Work - Location No. 1	\$520,000.00	\$520,000.00	\$624,000.00	\$624,000.00	
99 2000-N015	1.00 L.S.	Building Mechanical Work - Location No. 1	\$385,000.00	\$385,000.00	\$559,000.00	\$559,000.00	
100 2000-N025	1.00 L.S.	Building Architectural Work - Location No. 1	\$2,813,096.00	\$2,813,096.00	\$1,788,000.00	\$1,788,000.00	
101 2000-N026	1.00 L.S.	Building Plumbing Work - Location No. 1	\$144,000.00	\$144,000.00	\$196,000.00	\$196,000.00	
102 2000-N030	25,000.00 USD	NJDCA Construction Permit Allowance (No-Bid)	\$1.00	\$25,000.00	\$1.00	\$25,000.00	
103 2000-N047	1.00 L.S.	Building Structural Work - Location No. 1	\$327,000.00	\$327,000.00	\$1,365,874.45	\$1,365,874.45	
104 2000-N085	50,000.00 USD	Building Furniture Allowance (No-Bid)	\$1.00	\$50,000.00	\$1.00	\$50,000.00	
				\$11,775,000.00		\$12,188,442.00	

Letting Date: 10/22/2024